| N of associated (recoToSim) looper tracks vs dxy |

[N of associated (recoToSim) tracks vs dxy ]

20
track dz (cm)

20
track dz (cm)

N of reco track vs dxy

track dz (cm)

2
track dz (cm)

0 ]
£
Qe
2
Lo
]
3
o —
= O |x o
= ° —
Lo 2
g
8
..... o £ o
2
L0 15
I s o
= £ —
— [ |
! =
It) S
. S
o 3 1
S|z
! s
Lo e o
IN 4 i)
| 8 a1
= i S
M —
o _ o
3V 5}
£
>
Jo X
o
3
o
o ©
B 2
-{o
o o
I [To)
! o
o —
|5 |
Lo
e =}
| IN
o |
™
Ite] =}
o 5
(=) =)
H
Q= B
£
IS
[~ o
Lo I3V
]
S
o —
£ |8 S
[ts) H
P
© s
pur} (=) 8 o
< 5
= L0 £
= ' @ -
o = e i
@ W 3
5] It) 8
> — = o
x | 2 [N
P, o E |
. . = ) N ]
: 2 . 2 o
by by b Sl @
e o) =) = o[~ AN s e
=] =] o — o J s o
— — — [ o I}
ol z
SH -
2
HO
g
w
EL ™ (=}
T 20 Z\W/ 2]
o] g
o= HRE
T: SW o
H -
X
=3 Jqog
LF °4% — © o
‘afal = —
Lo
..... =) o
49
o
.......... S S i
h g —
R A Il —_——
| I e e [N
=) = ===
- ol
h h H ' ) g -
Lo e
AP PTIPEE PTI YPTI PYYPPIT TP P IR 2 bt 23
< ) B3 B o =) ) | |
=] =] =] (=) =} =1 > 3 [
- - - - - Ll o Z (=}

syoen

syoen



	Contents
	Page 1


